嶺東科技大學九十六學年度碩士班甄試招生考試試題

    □可使用計算機
一、單選題(每題3分，答錯不倒扣)  (30%)
1. Which of the following representations in two’s complement notation represents the largest value?(A) 10000010
(B) 11111111
(C) 10000001
(D) 01111110
2. 在下列位元組中，何者為偶同位編碼 (A) 11010101 (B) 00101000 (C) 01100001 (D)01101011 (E)以上皆非。

3. Which of the following is an example of a language that is based on the object-oriented paradigm?(A) LISP (B) PROLOG
(C) C (D) C++
4. Which of the following is not an application of the Internet?
(A) FTP 
(B) Email
 (C) CERT
(D)Telnet
(E)以上皆非。
5. ftp和 telnet的預設通訊port是：(A) 21、80 (B) 21、25 (C) 21、23 (D) 110、25 (E)以上皆非。
6. 使用氣泡排序法(bubble sort)來將n個數值做排序，其時間複雜度為(A)O(n) (B)O(nlog n) (C)O(n2log n) (D)O(n2) (E)以上皆非。
7. The primary purpose of which of the following is not the enhancement of security?(A) ICANN
(B) Firewall
(C)Encryption。
8. Which of the following relational operations combine data from more than one relation?
(A)JOIN
 (B)SELECT  (C )PROJECT
9. Which of the following numbers can be stored in floating point representation without any truncation (A)0.3 (B)1/5(C)9.5。
10. 假設螢幕上的圖像是以1024行乘768列像素的長方形陣列來表示。如果需要8位元表示一個像素的顏色及亮度，則需要多少位元組的記憶單元才能存下整個圖形？(A) 98,304
(B)786,432 (C)6,291,456
(D)3145,728(E)以上皆非。
二、填充題(每題3分)  (30%)
1. 將下列二進位數字轉換成相當的十進位表示法(A) 111=  (1)      (B) 10000000100= (2) 。 
2. 將下列十進位數以相當7位元的2的補數表示(A) -20=  (3)   (B) -10=  (4) 。
3.  Represent the bit pattern 1011010010011111 in hexadecimal notation?  (5) 。
4. At most, how many entries in a list of 5000 names will be interrogated when using the binary search algorithm? (6) 。   

5. If an RSA public key encryption system were based on the primes p = 3 and q = 7, which of the following pairs of values would be suitable for the encryption and decryption keys e=  (7)  and d=  (8)  ? 

6. A  (9)  is a set of instructions. In contrast, a  (10)   is the activity of executing those instructions
三、問答與計算 (40%)
1. 將下列用LZ77方式壓縮的資訊解壓縮。(10%)
a b r (3,1,c) (2,1,d) (7,3,a) 
2. 試用4個NAND間合成XOR(exclusive-or)邏輯電路(10%)

3. 
Given the three relations X, Y, and Z below
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what values would be retrieved by executing the following statement?(10%)

select X.B, Y.C, Z.F


  from X, Y, Z


  where X.A > Y.D and X.A = Z.E

4. Draw the search tree that would be generated by a heuristic search when solving the eight-puzzle from the starting configuration below assuming that “the number of tiles out of place” were used as the heuristic.(10%)
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